## **BID RESULTS**

Project: Ohlone Masonic Improvements Project (ReBid)

Bid Opening: Thursday, April 20, 2017 at 2:00 p.m.

Location: City Hall, 1000 San Pablo Avenue, Albany, CA

Staff called for bids and the following were received:

## **ERA Construction**

\$ 643,137.63

## **Bay Construction**

\$ 693,133.74

The above results may include errors and/or omissions by the bidder. Bids are referred to staff for review.

				Engineer's Estimate		ERA Construction		Bay Construction	
BID ITEM									
NO.	ITEM DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	Mobilization	1	LS	\$50,000.00	\$50,000.00	\$26,875.00	\$26,875.00	\$15,000.00	\$15,000.00
2	Water Pollution Control Program	1	LS	\$7,000.00	\$7,000.00	\$2,500.00	\$2,500.00	\$5,850.00	\$5,850.00
3	Traffic Control	1	LS	\$10,000.00	\$10,000.00	\$8,125.00	\$8,125.00	\$11,700.00	\$11,700.00
SIDEWALK A	AND TRAFFIC CALMING								
4	Remove existing tree and cap irrigation below grade	32	EA	\$400.00	\$12,800.00	\$750.00	\$24,000.00	\$585.00	\$18,720.00
5	Remove existing asphalt concrete and base material	2,550	SF	\$7.00	\$17,850.00	\$7.50	\$19,125.00	\$7.02	\$17,901.00
6	Sidewalk (including excavation and AB)	5,016	SF	\$15.00	\$75,240.00	\$12.31	\$61,746.96	\$13.00	\$65,208.00
7	Speed Hump with Speed Table	1	LS	\$16,000.00	\$16,000.00	\$4,375.00	\$4,375.00	\$8,190.00	\$8,190.00
8	Speed Hump without Speed Table	1	LS	\$14,000.00	\$14,000.00	\$4,375.00	\$4,375.00	\$3,510.00	\$3,510.00
9	Striping (for speed hump and advanced markings, cross walk, legends, removal and replacement of damaged striping, all Thermoplastic)	1	LS	\$4,500.00	\$4,500.00	\$4,875.00	\$4,875.00	\$11,700.00	\$11,700.00
10	Traffic Sign installation (with new post and 1 sign panel)	11	EA	\$500.00	\$5,500.00	\$593.75	\$6,531.25	\$351.00	\$3,861.00
11	Traffic Sign installation (with new post and 2 sign panels, paid as 1 sign)	2	EA	\$700.00	\$1,400.00	\$812.50	\$1,625.00	\$526.50	\$1,053.00
12	Parking Tees (Thermoplastic)	33	EA	\$75.00	\$2,475.00	\$18.75	\$618.75	\$29.25	\$965.25
13	Paint Curb (red or blue)	129	LF	\$15.00	\$1,935.00	\$3.13	\$403.77	\$3.51	\$452.79
14	Trench Drain	2	EA	\$5,500.00	\$11,000.00	\$7,750.00	\$15,500.00	\$5,850.00	\$11,700.00
15	Detectable Warning Surface 3'x5' (including concrete removal and replacement at the west side of Masonic Ave)	4	EA	\$300.00	\$1,200.00	\$1,375.00	\$5,500.00	\$1,170.00	\$4,680.00
GREENWAY	IMPROVEMENTS			_					
16	General Clear/Grub/Salvage of Minor Site Furnishings	15,000	SF	\$0.50	\$7,500.00	\$1.88	\$28,200.00	\$1.17	\$17,550.00
17	Salvage / Stockpile Solano Plaza Benches, Pots, Trash, Game Tables	1	LS	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$8,775.00	\$8,775.00
18	Salvage / Stockpile Marin Avenue Bench (surface mounted to conc.)	1	LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$5,850.00	\$5,850.00
19	Salvage / Stockpile / Irrigate Plants (nursery onsite for replanting)	1	LS	\$1,500.00	\$1,500.00	\$2,250.00	\$2,250.00	\$8,775.00	\$8,775.00
20	Sawcut AC Paving	110	LF	\$5.00	\$550.00	\$1.88	\$206.80	\$23.40	\$2,574.00
21	Remove Existing Asphalt Concrete and Base Material	3,450	SF	\$3.00	\$10,350.00	\$5.19	\$17,905.50	\$7.02	\$24,219.00
22	Remove Concrete Paving	550	SF	\$3.00	\$1,650.00	\$5.19	\$2,854.50	\$7.02	\$3,861.00
23	Excavation for Footings and Miscellaneous Grading	20	CY	\$50.00	\$1,000.00	\$268.75	\$5,375.00	\$175.50	\$3,510.00
24	Excavation for Fibar Mulch ( Log Scramble Area)	35	CY	\$50.00	\$1,750.00	\$256.25	\$8,968.75	\$175.50	\$6,142.50
25	Excavation/Grading for Lawn Areas South of Washington Avenue	120	СҮ	\$50.00	\$6,000.00	\$250.00	\$30,000.00	\$175.50	\$21,060.00
26	Excavated Soil Haul (assumes clean soil)	175	CY	\$150.00	\$26,250.00	\$250.00	\$43,750.00	\$234.00	\$40,950.00
27	Debris Haul	25	TN	\$150.00	\$3,750.00	\$118.75	\$2,968.75	\$234.00	\$5,850.00

BID ITEM									
NO.	ITEM DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
28	Fine Grading	10,000	SF	\$0.75	\$7,500.00	\$1.94	\$19,400.00	\$1.17	\$11,700.00
29	Wall at Solano Plaza	9	CY	\$1,200.00	\$10,800.00	\$3,625.00	\$32,625.00	\$936.00	\$8,424.00
30	Footing for Wall at Solano Plaza	8	CY	\$750.00	\$6,000.00	\$1,875.00	\$15,000.00	\$936.00	\$7,488.00
31	Drain behind Wall, 6" SDR in Drain Rock	125	LF	\$10.00	\$1,250.00	\$19.00	\$2,375.00	\$46.80	\$5,850.00
32	Concrete Paving at Plaza	2,200	SF	\$10.00	\$22,000.00	\$15.19	\$33,418.00	\$23.40	\$51,480.00
33	Ramp-Masonic to Plaza w/ 8" Curb	450	SF	\$15.00	\$6,750.00	\$29.19	\$13,135.50	\$64.35	\$28,957.50
34	Stair from Masonic Sidewalk to Plaza	64	SF	\$75.00	\$4,800.00	\$68.75	\$4,400.00	\$58.50	\$3,744.00
35	Handrails at Stair, Steel, Galvanized	15	LF	\$150.00	\$2,250.00	\$243.75	\$3,656.25	\$351.00	\$5,265.00
36	Header and DG Repair (3 locations per plan)	1	LS	\$3,000.00	\$3,000.00	\$6,750.00	\$6,750.00	\$11,700.00	\$11,700.00
37	Mulched Path Surfacing (4")	375	SF	\$5.00	\$1,875.00	\$6.88	\$2,580.00	\$11.70	\$4,387.50
38	Wood Header (2x6) at Mulched Paths	120	LF	\$10.00	\$1,200.00	\$23.75	\$2,850.00	\$23.40	\$2,808.00
1 39 1	Reinstall (1) Marin Bench, and Solano Benches (2), Pots (4), Trash (2)	1	LS	\$4,500.00	\$4,500.00	\$1,875.00	\$1,875.00	\$4,680.00	\$4,680.00
	Picnic Tables at Senior Services Plaza	2	EA	\$4,500.00	\$9,000.00	\$3,250.00	\$6,500.00	\$3,510.00	\$7,020.00
41	Wood Header (2x6) at Planting Areas	60	LF	\$10.00	\$600.00	\$22.50	\$1,350.00	\$23.40	\$1,404.00
42	Site Boulders	27	TN	\$400.00	\$10,800.00	\$312.50	\$8,437.50	\$468.00	\$12,636.00
43	Exercise Equipment	1	LS	\$54,070.00	\$54,070.00	\$8,750.00	\$8,750.00	\$37,440.00	\$37,440.00
44	Wood Header (2x6) at Exercise Court	85	LF	\$10.00	\$850.00	\$22.50	\$1,912.50	\$23.40	\$1,989.00
45	Exercise Court Surfacing DG on Base Course	1,500	SF	\$12.00	\$18,000.00	\$9.38	\$14,070.00	\$9.36	\$14,040.00
	Timberform Log Scramble	1	LS	\$14,084.00	\$14,084.00	\$11,500.00	\$11,500.00	\$15,210.00	\$15,210.00
1 4/ 1	Fibar Mulch (12" depth / 825 SF and 4" depth / 460 SF)	35	CY	\$150.00	\$5,250.00	\$106.25	\$3,718.75	\$117.00	\$4,095.00
48	Drain at Play Area	1	LS	\$2,000.00	\$2,000.00	\$4,375.00	\$4,375.00	\$5,850.00	\$5,850.00
49	Set (7) Special Boulders (Existing On-Site)	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$4,680.00	\$4,680.00
50	Pea Gravel Inside Special Boulder Circle	35	SF	\$20.00	\$700.00	\$22.50	\$787.50	\$46.80	\$1,638.00
51	Eucalyptus Logs	42	LF	\$100.00	\$4,200.00	\$43.75	\$1,837.50	\$117.00	\$4,914.00
	Trees / 15 Gallon	42	EA	\$200.00	\$8,400.00	\$512.50	\$21,525.00	\$468.00	\$19,656.00
	Shrubs / 1 Gallon	296	EA	\$28.00	\$8,288.00	\$18.75	\$5,550.00	\$23.40	\$6,926.40
	Turf Seeded Area	5,000	SF	\$0.75	\$3,750.00	\$1.13	\$5,650.00	\$0.59	\$2,950.00
	Reinstall Salvaged Plants-Senior Plaza	1	LS	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$5,850.00	\$5,850.00
56	Soil Preparation Prior to Seeding	6,200	SF	\$1.00	\$6,200.00	\$1.38	\$8,556.00	\$2.34	\$14,508.00
57	Masonic Sidewalk Area Wildflower Seeded Area	1,200	SF	\$0.75	\$900.00	\$16.88	\$20,256.00	\$1.76	\$2,112.00
58	Mulch Masonic Street Tree Wells (4" / 1,960 SF)	25	CY	\$100.00	\$2,500.00	\$100.00	\$2,500.00	\$117.00	\$2,925.00
	Mulch (4" / 5,700 SF General Site)	72	CY	\$100.00	\$7,200.00	\$100.00	\$7,200.00	\$117.00	\$8,424.00
60	Salvage/Reinstall and Install New Spray Irrigation Seeded Areas	6,200	SF	\$2.00	\$12,400.00	\$1.56	\$9,672.00	\$2.34	\$14,508.00
61	Masonic Street Trees Irrigation	32	EA	\$150.00	\$4,800.00	\$431.25	\$13,800.00	\$351.00	\$11,232.00
62	Drip Irrigation Around Plaza and Play Areas	4,000	SF	\$2.00	\$8,000.00	\$1.50	\$6,000.00	\$2.34	\$9,360.00
63	Restoration Fencing, Wood Post and Rope	650	LF	\$5.00	\$3,250.00	\$7.13	\$4,634.50	\$11.70	\$7,605.00
				BASE BID TOTAL	\$553,367.00		\$643,302.03		\$693,063.94

ADD ALTERNATE #1 - Boulders Steps	

BID ITEM									
NO.	ITEM DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
64	Boulder Step Sections along Plaza Wall-Masonic to Exercise Court	3	EA	\$1,000.00	\$3,000.00	\$1,187.50	\$3,562.50	\$1,200.00	\$3,600.00
Subtotal Add Alt. #1 \$3,000.00							\$3,562.50		\$3,600.00
ADD ALTER	ADD ALTERNATE #2 - Redwood Grove				-		•		•
65	Clear and Grub (No excavation)	1	LS	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$9,000.00	\$9,000.00
66	Redwood Logs	38	LF	\$150.00	\$5,700.00	\$68.75	\$2,612.50	\$300.00	\$11,400.00
67	Shredded Redwood Mulch (400 SF)	5	CY	\$150.00	\$750.00	\$106.25	\$531.25	\$300.00	\$1,500.00
Subtotal Add Alt. #2 \$6,950.00							\$4,643.75		\$21,900.00